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1 |[REITE 1 X 260,000
2 |BRAIE 1 X 0 (it
3 |21 LIE 1 X 0 |#uk
4 |Bfk-R—FIE 1 F= 541,650
5 |[BRIE 1 = 304,000
6 |&ETSE 1 % 406,400
7 |REISE 1 = 200,000
8 |BEIE 1 =® 463,900
9 |RELLETFIE 1 F=0 279,000
10 [Ai5RAIE 1 F=0 318,000
LRI v e k- -4 1 F2n 0 |#uk
12 |#1E 1 2 50,000
13 |BEREBIE 1 2o 1,408,500
14 BRI E 1 2o 45,000
15 [$8HEKER B TS 1 F2n 537,500
16 [FTERXRBIRIE 1 F2n 262,500
17 |ZRRIETE 1 X 663,000
18 [RRRIEITE 1 X 434,000
19 |HE#E 1 X 165,000
20 ERA R 1 F=0 120,000
21 |=HEEE HSERREST 1 X 550,000
INEE 7,008,450
prEEag -8,450
& & 7,000,000
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B O 454 5 &R 19,000 95,000
ZRIO T bR 2 &R 9,000 18,000
EPBALY BEHE.ML 30 m 1,300 39,000
X HPBHE BEFFA 1 = 9,000
ZRIPBREY KEREDH
BESA4HILEEY t=10 40 m 2,600 104,000
XHFRRO TILiEERE 4550 2 &AT 8,500 17,000
gE a——#% 1 = 20,000
HEMMM 1 2o 40,000
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FIXZE # 1 # 60,000
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=YE 1 F2 20,000
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hovE—8 RIGRE 1 X 120,000
a—kE—A—h—=% RIGRE 1 a 35,000
ML FHR 1 a 15,000
HEBEFR 1 =) =1
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HESMM 1 = 5,000
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W 4—-LEEBASR 1 = 85,000
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KEEIS— M 1 F2 i1
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10-&t 318,000
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BATHE 1 m 35,000
L palk: 1 [i:1] 55,000
ERRE 1 = 25,000
THEEE 1 F= 10,000
AV UMb 3 a 0|1t
LEDA-RHBBR (HE-EB#HA) 7 a 7,990 55,930
LED4)»74F (EmEZE-bAL) 2 a 5,800 11,600
BC#RYIF 3m 1 V. 6,800
71-M4Y 1 X 1,000
uh 1 X 170
AAVFH 1 F2n 45,000
avtek 1 2o 58,000
BIHBE 1 2o 330,000
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HKEEILE 1 X 30,000
HBKE 25A 25 m 350 8,750
HBKE 20A 25 m 300 7,500
XFEEYE 1 F= 18,000
BHFR 1 F2 15,000
KREELSE 1 F2 30,000
eneE 15A 25 m 1,000 25,000
eneE 20A 25 m 1,550 38,750
HKEEISE 1 2 30,000
BEKE 30 m 550 16,500
BRRKESE 1 = 78,000
EERRIER 1 2o 220,000
HEMMM 1 = 20,000
15-&t 537,500
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FXER 491 1 a 60,000
EE D+l 1 a 25,000
HER 1 a 2,500
B{f+%kmas %2 1 =) 28,000
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BHEFxE 1 a 24,000
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FIHFFEVERE 1 = gk
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ENH-E5E BARGIE 1 = 70,000
JEVERRURGE 1 = 18,000
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HRESEIEE 1 = 15,000|3E /0

18-t 434,000

20/ 21 R—=2



APJR—D)—HETE |
£ £ BRAE - ~Hik -tk HE Bfy | B ff ) =
19 HEERE
118209 (TR VLYYV TF) W350 D450 H800 1 =} 25,000
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